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A. Inheritance
B. Polymorphism
C. Automation
D. Abstraction
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A. strcpy
B. getforkdir
C.clock
D.random
E.scanf
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A. Physical Layer
B. Data Link Layer
C. Network Layer
D. Transport Layer
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A. Spooling

B. Time sharing
C. Semaphore
D. Booting

E. Pooling
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A. 000100
B. 111100
C. 000011
D. 001111
E. 111111
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B. ROM
C. Cache
D. Register
E. Disk
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1.

2.

A. O(n%)

B. O(n!)

C. (nlog n)

D. O(log n)
E. O(1)

~ #2538 (40%)
BT AR S NI A CE G PR S EHF ELE R & 7R
R TP P EAENEL R P L oo (10%)

#ifndef HEADER_H

#define HEADER_H

//declarations for header.h go here

#endif

TRRT - B BRAKRYFRY- FF AT

BRAOCHEZAN  RFZRELE AT BN sE 47 0 Tw &S

FEFC 0 iR Bt i M 0 g 2 A o (T 7 DB (1)~(5) 5k A
(10% > = - & 73 2%)

#include< (1) >
int main(int argc, char argv[][]) {
_(2)_*myfile;
char ch;
myfile = fopen(“input.txt”, ’r”);
_(3)__(_(4)_!= (ch=fgetc(__(5)_)))
printf(“%c”, ch);
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(@) inti=3, j=2, k=9; (b) inti=1, j=7, k=7;
printf(“%d,”, i<j || ++j <K); printf(“%d,”, i-4 && j-- <K);
printf(“%d,%d,%d", i, j, k); printf(“%d,%d,%d", i, j, k);

(c) inti=5, j=6, k=9; (d) inti=3, j=1, k=8;
printf(“%d,”, (i=j) || (j=K)); printf(“%d,”, ++i || ++j && ++K);
printf(“%d,%d,%d", i, j, k); printf(“%d,%d,%d", i, j, k);

(e) inti=1, j=7, k=3;
printf(“%d,”, (--1) || (-=K));
printf(“%d,%d,%d", i, j, k);
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#include <iostream>
using namespace std;
class Pokemon{
protected:
int combat_power;
public:
Pokemon(int cp) { combat_power = cp; }
void train() { combat_power = combat_power + 20; }
virtual void jump() { cout << "Pokemon can jump " << combat_power << " meters." << endl; }
h3
class Magikarp : public Pokemon{
public:
Magikarp(int cp):Pokemon(cp) { }
void train(){ combat_power *=2; }
void jump() {cout << "Magikarp can jump " << combat_power << " meters." << endl; }

class Gyarados : public Pokemon{
public:
Gyarados(int cp):Pokemon(cp) {}
void train() { combat_power *=4; }
void jump() { cout << "Gyarados cruising height is " << combat_power << " meters." << endl; }

int main(int argc, char *argv[]){
Pokemon *pPokemon = new Pokemon(10);
Pokemon *pMagikarp = new Magikarp(10);
Magikarp *pMagikarp2 = new Magikarp(10);
Pokemon *pGyarados = new Gyarados(10);
Gyarados *pGyarados2 = new Gyarados(10);
pPokemon->train();
pPokemon->jump();
pMagikarp->train();
pMagikarp->jump();
pMagikarp2->train();
pMagikarp2->jump();
pGyarados->train();
pGyarados->jump();
pGyarados2->train();
pGyarados2->jump();
delete pPokemon, pMagikarp, pMagikarp2, pGyarados, pGyarados2;
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